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gooooooOo3oooboooooUobooUooU0boOUDOOoUbOoUbbOUDbDOODbDboUDboOO
goo

Q=2000770000
P = 5105101 + 200077

2P + 1 =2(510510n + 200077) + 1 = 1021020n + 400154 + 1 = 10210201 + 400155

0000010210200 20 2003,5,7,11,13,17000000 10000000

400155 =3 x5 x 7x 37 x 103 x 1

oooo
2P + 1 = 105(9724n + 3811)

o00obOOobOobDl5000000000000DODOO0ODOO0OO0OO0DDOODOODODODODOOD
good

Q =200087 0000
P = 510510n + 200087

2P 4+ 1 =2(510510n + 200087) 4+ 1 = 1021020n + 400174 + 1 = 1021020n + 400175
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0000010210200 20 2003,5,7,11,13,17000000 10000000

400175 =5 x 5 x 16007 x 1

ooono
2P + 1 = 5(204204n + 80035)

ooooooooboso0ooooboboooooooboboooooooDooOobOobDooooobObOBbOoOn
ooo

Q =200089 0000
P = 5105101 + 200089

2P 4+ 1 = 2(510510n + 200089) + 1 = 10210201 4 400178 + 1 = 1021020n + 400179
0000010210200 20 2003,5,7,11,13,17000000 10000000

400179 =3 x 13 x 31 x 331 x 1

oooo
2P 4 1 = 39(26180n + 10261)

obooboooo3ooooooooobobooobooboobooboboooobOoobOoo
goog

Q=2000930000
P = 5105100 + 200093

2P + 1 = 2(510510n + 200093) 4+ 1 = 10210201 4 400186 + 1 = 10210201 + 400187
0000010210200 20 2003,5,7,11,13,17000000 1000000
400187 = 400187 x 1
0000 10210200000000000000
2P + 1 = 510510m + 400187

gboboobooobooboboobboobbooboooboon

Q =200099 0000
P = 5105101 + 200099

2P 4+ 1 =2(510510n + 200099) + 1 = 10210201 + 400198 + 1 = 1021020n + 400199

0000010210200 20 2003,5,7,11,13,17000000 1000000

400199 = 400199 x 1

OO000 10210200 000000000000

2P 4+ 1 =510510m + 400199
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gboboobogobogoboboobboobooobooooboon

Q=12001110000
P = 510510n + 200111

2P + 1 = 2(510510n + 200111) 4 1 = 10210201 + 400222 + 1 = 10210201 + 400223
0000010210200 20 2003,5,7,11,13,17000000 1000000

400223 = 23 x 17401 x 1

o000 10210200 000000000000

2P 4+ 1 = 510510m + 400223

gbbogbogobogbbgobboobboooobuoonbagn

Q=12001130000
P =510510n + 200113

2P 4+ 1 =2(510510n + 200113) + 1 = 10210201 + 400226 + 1 = 1021020n + 400227

0000010210200 20 2003,5,7,11,13,17000000 10000000

400227 =3 x 71 x 1879 x 1

good
2P + 1 = 3(340340n + 133409)

goobOobooo30boboooooobobooDoOobobUobDobDOobooobOobOobDOoo
goo

Q=2001170000
P = 510510n + 200117

2P + 1 =2(510510n + 200117) 4+ 1 = 1021020n + 400234 + 1 = 10210201 + 400235

0000010210200 20 2003,5,7,11,13,17000000 10000000

400235 =5x 11 x 19 x 383 x 1

oooo
2P 4+ 1 = 55(18564n + 7277)

OOooOdDoOoDoOs 000000 ob0obooboo0obooo0oDoobDoobLDOobDOobobOoboOoooO
googo

Q=12001190000
P =510510n + 200119

2P + 1 =2(510510n + 200119) + 1 = 10210201 + 400238 + 1 = 10210201 + 400239
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0000010210200 20 2003,5,7,11,13,17000000 10000000

400239 =3 x 3 X 7 x 6353 x 1

oooo
2P + 1 = 21(48620n + 19059)

o00o0obO0oOobo21000000000obOb0o0oo0b00o0bO0o0ob0o0oboboDoooboOoobOoo
good

Q=2001290000
P = 5105101 + 200129

2P + 1 = 2(510510n + 200129) 4 1 = 10210201 4+ 400258 + 1 = 10210201 4 400259
0000010210200 20 2003,5,7,11,13,17000000 1000000

400259 = 73 x 5483 x 1

o000 102102000000000000000

2P 4+ 1 = 510510m + 400259

gbobooboooboobboobboobobooobuoonoboon

Q=1200131 0000
P = 510510n + 200131

2P + 1 = 2(510510n + 200131) 4 1 = 10210201 4 400262 + 1 = 10210201 4 400263
0000010210200 20 2003,5,7,11,13,17000000 10000000

400263 = 3 x 101 x 1321 x 1

oooo
2P + 1 = 3(340340n + 133421)

oooooooo3sooooooooooooboOoboobDoobDOoobbOODoOOobDboOoDboO
goo

Q =2001430000
P = 510510n + 200143

2P + 1 =2(510510n + 200143) + 1 = 10210201 + 400286 + 1 = 1021020n + 400287

0000010210200 20 2003,5,7,11,13,17000000 10000000

400287 =3 x 29 x 43 x 107 x 1

oooo
2P + 1 = 3(340340n + 133429)
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go0oooooOo300boo0ooU0oOoU0ooU0bDOoUDOOoUoDOoUbObOUDOOobDOUDoOO
goo

Q=2001470000
P = 510510n + 200147

2P + 1 = 2(510510n + 200147) 4+ 1 = 10210201 4 400294 + 1 = 10210201 + 400295
0000010210200 20 2003,5,7,11,13,17000000 10000000

400295 =5 x 7 x 11437 x 1

oooo
2P + 1 = 35(29172n + 11437)

000o00O0o0oo3o0o00bboobooboooobooo0bDO0o0ob0o0obUoDoOooDbOooDbOon
good

Q=2001490000
P = 510510n + 200149

2P 4+ 1 = 2(510510n + 200149) + 1 = 10210201 4 400298 + 1 = 1021020n + 400299
0000010210200 20 2003,5,7,11,13,17000000 10000000

400299 = 3 x 17 x 47 x 167 x 1

oooo
2P + 1 = 51(20020n + 7849)

oboobooooslbooobobooooobobooobooboobooboboooobOoobOoo
good

Q=2001530000
P = 510510n + 200153

2P + 1 = 2(510510n + 200153) 4+ 1 = 10210201 4 400306 + 1 = 10210201 + 400307
0000010210200 20 2003,5,7,11,13,17000000 1000000
400307 = 400307 x 1
0000 10210200000000000000
2P + 1 = 510510m + 400307

gbooboobooobooboboobboobboooboooboon

Q=2001590000
P = 510510n + 200159

2P 4+ 1 =2(510510n + 200159) 4+ 1 = 1021020n + 400318 + 1 = 10210201 + 400319
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0000010210200 20 2003,5,7,11,13,17000000 1000000

400319 = 97 x 4127 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 400319

goboobooobooboboobboobbooboooboon

Q=2001710000
P = 510510n + 200171

2P + 1 = 2(510510n + 200171) 4 1 = 10210201 + 400342 + 1 = 10210201 + 400343
0000010210200 20 2003,5,7,11,13,17000000 1000000

400343 = 61 x 6563 x 1

o000 102102000000000000000

2P 4+ 1 = 510510m + 400343

gboobgobogobooboboobboobooobuooooboon

Q=2001730000
P = 510510n + 200173

2P + 1 = 2(510510n + 200173) 4+ 1 = 10210201 4 400346 + 1 = 10210201 + 400347
0000010210200 20 2003,5,7,11,13,17000000 10000000

400347 = 3 x 3 x 44483 x 1

oooo
2P + 1 = 3(340340n + 133449)

gooooooosooooooooobooooOo0boUobDOoobDOoOobDOoODbDOoOobDboUODboO
goo

Q=2001770000
P = 510510n + 200177

2P 4+ 1 =2(510510n + 200177) + 1 = 10210201 + 400354 + 1 = 10210201 + 400355

0000010210200 20 2003,5,7,11,13,17000000 10000000

400355 = 5 x 80071 x 1

oooo
2P + 1 = 5(204204n + 80071)

87



gbobobooosOobobobooobooboboboobobOobobDobDoboboOobOobOoboOoon
goo

Q=2001830000
P = 510510n + 200183

2P + 1 =2(510510n + 200183) + 1 = 10210201 + 400366 + 1 = 1021020n + 400367

0000010210200 20 2003,5,7,11,13,17000000 10000000

400367 =11 x 17 x 2141 x 1

oooo
2P + 1 = 187(5460n + 2141)

O00ooooorodooo0dooooooooooooo0oooooooooooooonoog
good

Q=2001910000
P = 510510n + 200191

2P 4+ 1 =2(510510n + 200191) + 1 = 10210201 + 400382 + 1 = 10210201 + 400383

0000010210200 20 2003,5,7,11,13,17000000 10000000

400383 =3 x 3 x3 x3x4943 x 1

oooo
2P + 1 = 3(340340n + 133461)

gooooooOo3oUoboooooooboU0oOoU0bOoUbDOoUobDOoUobDbOUDbDOoOobDboUDoO
ooo

Q=200197 0000
P = 5105101 + 200197

2P + 1 = 2(510510n + 200197) + 1 = 10210201 + 400394 + 1 = 10210201 + 400395
0000010210200 20 2003,5,7,11,13,17000000 10000000

400395 = 3 x 5 X 26693 x 1

oooo
2P + 1 = 15(68068n + 26693)

obooboooolbooobooobooobobooobooobOooboobUobooooboOooboo
good

Q=1200201 0000
P = 510510n + 200201
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2P + 1 =2(510510n + 200201) + 1 = 1021020n + 400402 + 1 = 1021020n + 400403

0000010210200 20 2003,5,7,11,13,17000000 1000000

400403 =29 x 13807 x 1

o000 10210200000000000000O0

2P 4+ 1 = 510510m + 400403

gboboobogobogoboboobboobooobooooboon

Q=2002030000
P = 5105100 + 200203

2P + 1 = 2(510510n + 200203) 4+ 1 = 10210201 4 400406 + 1 = 10210201 + 400407
0000010210200 20 2003,5,7,11,13,17000000 10000000

400407 =3 x 7 x 23 x 829 x 1

oooo
2P + 1 = 21(48620n + 19067)

goooooboOo21000b0000b0oboobooobooooDoDOooDOobDOobobOboOoboO
good

Q=2002190000
P = 510510n + 200219

2P + 1 = 2(510510n + 200219) 4 1 = 10210201 + 400438 + 1 = 10210201 + 400439
0000010210200 20 2003,5,7,11,13,17000000 10000000

400439 = 13 x 30803 x 1

oooo
2P + 1 = 13(78540n + 30803)

obooboooboy3oooobooooobobooobooboobooboboooobOoobOoo
good

Q=1200227 0000
P =510510n + 200227

2P 4+ 1 = 2(510510n + 200227) 4+ 1 = 1021020n + 400454 + 1 = 10210201 + 400455

0000010210200 20 2003,5,7,11,13,17000000 10000000

400455 =3 x 3 x5 x 11 x809 x 1
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oooo
2P +1 = 165(6188n + 2427)

O000O0bOo0Ol1e5000000000000DOO0ODOODOODO0OODOODOODODODOODODn
good

Q=12002310000
P = 510510n + 200231

2P + 1 = 2(510510n + 200231) + 1 = 1021020 + 400462 + 1 = 10210201 + 400463
0000010210200 20 2003,5,7,11,13,17000000 10000000

400463 =7 x 19 x 3011 x 1

oooo
2P + 1 = 7(145860n + 57209)

o0o0ooooOovy0O0o0o00o0o0oOOo00O00DOO0DOD00DOO00DODO0ODODOO0ODODODOOO
goo

Q=200237 0000
P = 510510n + 200237

2P + 1 = 2(510510n + 200237) 4+ 1 = 10210201 4 400474 + 1 = 10210201 + 400475
0000010210200 20 2003,5,7,11,13,17000000 10000000

400475 =5 x5 x 83 x 193 x 1

oooo
2P + 1 = 5(204204n + 80095)

oboobobooosOob0obUoboOobobo0obO0obDOobOoObOobUobDobDOobObOobOobDOobDoo
goo

Q=1200251 0000
P =510510n + 200251

2P 4+ 1 =2(510510n + 200251) + 1 = 10210201 + 400502 + 1 = 10210207 + 400503

oo000010210200 20 2003,5,7,11,13,17000000 10000000

400503 = 3 x 17 x 7853 x 1

oooo
2P + 1 = 51(20020n + 7853)

gbooooooslboboooboooooobooobooboobooboboooobOoobOoon
gogo
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Q=200257 0000
P = 510510n + 200257

2P + 1 = 2(510510n + 200257) 4+ 1 = 10210201 4 400514 + 1 = 10210201 + 400515
0000010210200 20 2003,5,7,11,13,17000000 10000000

400515 =3 x 5 x 26701 x 1

oooo
2P + 1 = 15(68068n + 26701)

goooooooioooobooooooboooboooboobooboboooobOobobOoo
goog

Q=200261 0000
P = 510510n + 200261

2P + 1 = 2(510510n + 200261) 4+ 1 = 10210201 + 400522 + 1 = 10210201 + 400523
0000010210200 20 2003,5,7,11,13,17000000 1000000

400523 = 400523 x 1

o000 10210200 0000000000000

2P +1 = 510510m + 400523

gboboobooobooboboobboobboobooobooo

Q=2002670000
P = 5105101 + 200267

2P 4+ 1 =2(510510n + 200267) + 1 = 10210201 + 400534 + 1 = 10210201 + 400535

0000010210200 20 2003,5,7,11,13,17000000 10000000

400535 = 5 x 80107 x 1

oooo
2P + 1 = 5(204204n + 80107)

oboobobooosOob0obOobOUoobo0ob0obDobOUobObOobUobDobDOobObOoobUobDOoboOoo
goo

Q=200269 0000
P = 510510 + 200269

2P 4+ 1 = 2(510510n + 200269) + 1 = 1021020n + 400538 + 1 = 10210201 + 400539
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0000010210200 20 2003,5,7,11,13,17000000 10000000

400539 = 3 x 19 x 7027 x 1

good
2P + 1 = 3(340340n + 133513)

o00obOobO0o0o30b0b0oboooooboboooOobOOobOoboDobDobooobOobDOobDOoo
goo

Q=2002730000
P = 510510n + 200273

2P + 1 = 2(510510n + 200273) 4+ 1 = 10210201 4 400546 + 1 = 10210201 + 400547
0000010210200 20 2003,5,7,11,13,17000000 10000000

400547 =7 x 57221 x 1

oooo
2P + 1 = 7(145860n + 57221)

goooooogvooooOoooOoobOoU0OOoU0bDOU0UDbDOoUoDbDOoUobOOUODOOobDOUODOO
oono

Q=200279 0000
P = 510510n + 200279

2P + 1 = 2(510510n + 200279) 4+ 1 = 10210201 + 400558 + 1 = 10210201 + 400559
0000010210200 20 2003,5,7,11,13,17000000 1000000

400559 = 400559 x 1
Ooooo 10210200 000000000000
2P +1 = 510510m + 400559

goboobooobooboboobboobboobooobooo

Q=200281 0000
P = 510510n + 200281

2P 4+ 1 =2(510510n + 200281) + 1 = 10210201 + 400562 + 1 = 10210201 + 400563

0000010210200 20 2003,5,7,11,13,17000000 10000000

400563 = 3 x 3 x 44507 x 1

oooo
2P + 1 = 3(340340n + 133521)
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go0oooooOo300boo0ooU0oOoU0ooU0bDOoUDOOoUoDOoUbObOUDOOobDOUDoOO
goo

Q=200287 0000
P = 510510n + 200287

2P 4+ 1 =2(510510n + 200287) + 1 = 10210201 + 400574 + 1 = 1021020n + 400575

0000010210200 20 2003,5,7,11,13,17000000 10000000

400575 =3 X b x b X 7x7x109 x 1

oooo
2P + 1 =105(9724n + 3815)

go0obOobOools0ob0oo0oo0o0oooboobooOooOob0oobOobOobOoDOooboDOoboon
good

Q=2002930000
P = 510510n + 200293

2P + 1 =2(510510n + 200293) + 1 = 1021020n + 400586 + 1 = 1021020n + 400587

0000010210200 20 2003,5,7,11,13,17000000 10000000

400587 =3 x 11 x 61 x 199 x 1

oooo
2P + 1 = 33(30940n + 12139)

go0odoOoboOo33boobooooob0obooboooooo0ooDobDOoobDobDOoboooOooog
good

Q=200297 0000
P = 5105101 + 200297

2P + 1 = 2(510510n + 200297) + 1 = 10210201 4 400594 + 1 = 10210201 + 400595
0000010210200 20 2003,5,7,11,13,17000000 10000000

400595 =5 x 13 x 6163 x 1

good
2P + 1 = 65(15708n 4 6163)

o0oobOogboes 000000000 bbOOCObO0OO0ODO0ODO0ODbDUODUOODbDObODOC
googd

Q=2003030000
P = 5105100 + 200303
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2P + 1 = 2(510510n + 200303) + 1 = 1021020n + 400606 + 1 = 1021020n + 400607

0000010210200 20 2003,5,7,11,13,17000000 1000000

400607 = 400607 x 1

o000 10210200000000000000O0

2P 4+ 1 = 510510m + 400607

gboboobogobogoboboobboobooobooooboon

Q=200309 0000
P = 5105100 + 200309

2P + 1 = 2(510510n + 200309) 4 1 = 10210201 4+ 400618 + 1 = 10210201 4 400619
0000010210200 20 2003,5,7,11,13,17000000 1000000

400619 = 400619 x 1

o000 10210200 000000000000

2P 4+ 1 = 510510m + 400619

gbbooggbogoboobbugobboobbooobuoonbagn

Q=2003230000
P = 510510n + 200323

2P + 1 = 2(510510n + 200323) 4+ 1 = 10210201 + 400646 + 1 = 10210201 + 400647
0000010210200 20 2003,5,7,11,13,17000000 10000000

400647 =3 x 13 x 10273 x 1

good
2P +1 = 39(26180n + 10273)

o00o0o0O0o0oo3YoooooooooboooobooobOo0obooboboDoooDbOooDbOon
good

Q=200327 0000
P = 510510n + 200327

2P 4+ 1 =2(510510n + 200327) 4+ 1 = 1021020n + 400654 + 1 = 10210201 + 400655

0000010210200 20 2003,5,7,11,13,17000000 10000000

400655 = 5 x 227 x 353 x 1
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oooo
2P + 1 = 5(204204n + 80131)

oboobobooosUOb0obUobOUobobo0obU0obDOobOUobObUOobUObDOobDOobObOobOobDOooOoo
goo

Q=2003290000
P = 5105101 + 200329

2P + 1 = 2(510510n + 200329) + 1 = 10210201 4 400658 + 1 = 1021020n + 400659
0000010210200 20 2003,5,7,11,13,17000000 10000000

400659 = 3 x 7 x 19079 x 1

oooo
2P + 1 = 21(48620n + 19079)

oooooooo210000000000000DODO000DODDOOODODOOOODOOOODDbOOO
oooo

Q=2003390000
P = 510510n + 200339

2P + 1 = 2(510510n + 200339) 4 1 = 10210201 + 400678 + 1 = 10210201 + 400679
0000010210200 20 2003,5,7,11,13,17000000 1000000
400679 = 400679 x 1
0000 10210200000000000000
2P + 1 = 510510m + 400679

gboboobogobogbooboobboobbooobuoooboon

Q=12003410000
P = 510510n + 200341

2P 4+ 1 =2(510510n + 200341) + 1 = 10210201 + 400682 + 1 = 10210201 + 400683

0000010210200 20 2003,5,7,11,13,17000000 10000000

400683 = 3 x 23 x 5807 x 1

oooo
2P + 1 = 3(340340n + 133561)

gooooooOo3sooooooooobooooo0bOoUobDOooDbOoUobbOObDOoOobboUODoO
goo
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Q=2003510000
P = 510510n + 200351

2P + 1 = 2(510510n + 200351) 4 1 = 10210201 4 400702 + 1 = 10210201 + 400703
0000010210200 20 2003,5,7,11,13,17000000 1000000

400703 = 400703 x 1

o000 102102000000000000000

2P 4+ 1 = 510510m + 400703

gbobooobogobooboboobboobooobuoooboon

Q=2003530000
P = 5105100 + 200353

2P + 1 =2(510510n + 200353) + 1 = 1021020n + 400706 + 1 = 1021020n + 400707

0000010210200 20 2003,5,7,11,13,17000000 10000000

400707 =3 x3x3x3x3x17Tx97x1

oooo
2P 4+ 1 = 51(20020n + 7857)

goooooboOosibobobooboobobobooobooooDoobDooDobDOobooboOoboO
good

Q=2003570000
P = 5105101 + 200357

2P + 1 =2(510510n + 200357) + 1 = 1021020n + 400714 + 1 = 1021020n + 400715

0000010210200 20 2003,5,7,11,13,17000000 10000000

400715 =5 x 7 x 107 x 107 x 1

oooo
2P + 1 = 35(29172n + 11449)

oboooooosbooooboooooboboooboooboobooboboooobOoobUOoo
good

Q=200359 0000
P = 510510 + 200359

2P 4+ 1 = 2(510510n + 200359) + 1 = 1021020n + 400718 + 1 = 1021020n + 400719
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0000010210200 20 2003,5,7,11,13,17000000 10000000

400719 =3 x 11 x 12143 x 1

oooOo
2P + 1 = 33(30940n + 12143)

O0b0o0obO0oOoo33boooooooooboboooboobDo0obooboooooboOooDbOoo
good

Q=2003630000
P = 510510n + 200363

2P + 1 = 2(510510n + 200363) 4+ 1 = 10210201 4 400726 + 1 = 10210201 + 400727
0000010210200 20 2003,5,7,11,13,17000000 1000000

400727 = 67 x 5981 x 1

o000 10210200 0000000000000

2P 4+ 1 = 510510m + 400727

gboboobogobooboboobboobbooobuoonooboon

Q=2003710000
P = 510510n + 200371

2P + 1 = 2(510510n + 200371) 4+ 1 = 10210201 4 400742 + 1 = 10210201 4 400743
0000010210200 20 2003,5,7,11,13,17000000 10000000

400743 =3 x 3 x 7 x 6361 x 1

oooo
2P + 1 = 21(48620n + 19083)

gooooOoboOo210000000b00b00oO0o0oOo0oo00oDOoDOo0oDOoDbDOoboOoObOobO
good

Q=2003770000
P = 5105101 + 200377

2P + 1 =2(510510n + 200377) + 1 = 1021020n + 400754 + 1 = 10210201 + 400755

0000010210200 20 2003,5,7,11,13,17000000 10000000

400755 =3 x 5 x 26717 x 1

oooo
2P + 1 = 15(68068n + 26717)
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obogoooooioooobooooooboboooboobo0obooboboooobOoobOoo
goog

Q=200381 0000
P = 510510n + 200381

2P + 1 = 2(510510n + 200381) 4 1 = 10210201 + 400762 + 1 = 10210201 + 400763
0000010210200 20 2003,5,7,11,13,17000000 10000000

400763 = 11 x 36433 x 1

oooo
2P + 1 = 11(92820n + 36433)

gobo0obO0oobOlnoooo0oobO0oobOo0ooObO0ooODOO0o0obO0o0obUobDoOooDbOobODbOoo
good

Q=2003830000
P = 510510n + 200383

2P 4+ 1 = 2(510510n + 200383) + 1 = 10210200 + 400766 + 1 = 10210200 + 400767
0000010210200 20 2003,5,7,11,13,17000000 10000000

400767 =3 x 19 x 79 x 89 x 1

good
2P + 1 = 3(340340n + 133589)

obooboooo3obobobooooobobooooboboboobDooboobOobDoooo
goo

Q=2003930000
P = 510510n + 200393

2P + 1 = 2(510510n + 200393) + 1 = 10210201 4 400786 + 1 = 10210201 + 400787
0000010210200 20 2003,5,7,11,13,17000000 1000000
400787 = 59 x 6793 x 1
0000 10210200000000000000
2P + 1 = 510510m + 400787

gbooboobooobooboboobboobboooboooboon

Q =2003990 000
P = 510510n + 200399

2P 4+ 1 =2(510510n + 200399) + 1 = 1021020n + 400798 + 1 = 10210201 + 400799
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0000010210200 20 2003,5,7,11,13,17000000 10000000

400799 =7 x 31 x 1847 x 1
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Q=204067 0000
P = 5105101 + 204067

2P + 1 = 2(510510n + 204067) 4+ 1 = 10210201 + 408134 + 1 = 10210201 + 408135
0000010210200 20 2003,5,7,11,13,17000000 10000000
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O000b00ob13e00b00Db0000O0bO0OO0bO0OO0bUOobObOobOUODbDUbODbOoODbDOO
googo

Q=2040730000
P = 5105100 + 204073
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P = 510510n + 204077

2P + 1 = 2(510510n + 204077) 4+ 1 = 10210201 + 408154 + 1 = 10210201 + 408155
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oooo
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2P + 1 = 2(510510n + 204097) 4+ 1 = 10210201 4 408194 + 1 = 10210201 + 408195
0000010210200 20 2003,5,7,11,13,17000000 10000000
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P = 5105100 + 204103

2P + 1 =2(510510n + 204103) + 1 = 1021020n + 408206 + 1 = 1021020n + 408207
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P = 510510n + 204107

2P 4+ 1 =2(510510n + 204107) + 1 = 1021020n + 408214 + 1 = 1021020n + 408215
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2P 4+ 1 =2(510510n + 204109) + 1 = 10210201 + 408218 + 1 = 10210201 + 408219

0000010210200 20 2003,5,7,11,13,17000000 10000000
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2P + 1 =2(510510n + 204121) + 1 = 1021020n + 408242 + 1 = 1021020n + 408243
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2P + 1 = 33(30940n + 12371)
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Q=2041310000
P = 510510n + 204131

2P + 1 = 2(510510n + 204131) 4+ 1 = 10210201 + 408262 + 1 = 10210201 + 408263
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2P + 1 = 2(510510n + 204133) 4+ 1 = 10210201 4 408266 + 1 = 10210201 + 408267
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P = 510510n + 204137

2P + 1 =2(510510n + 204137) + 1 = 1021020n + 408274 + 1 = 1021020n + 408275
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P =510510n + 204143
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P = 510510n + 204151

2P + 1 =2(510510n + 204151) + 1 = 10210201 + 408302 + 1 = 10210201 + 408303
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2P + 1 = 2(510510n + 204157) 4+ 1 = 10210201 + 408314 + 1 = 10210201 + 408315
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P = 510510n + 204161
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2P + 1 = 2(510510n + 204163) + 1 = 10210201 + 408326 + 1 = 10210201 + 408327
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2P + 1 = 2(510510n + 204167) 4+ 1 = 10210201 4 408334 + 1 = 10210201 + 408335
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ogooo
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